

$$(1) \quad (i) \quad f(x) = \frac{2x+3}{x^2-4x+\lambda}$$

$$x^2 - 4x + \lambda \neq 0 \quad \forall x \in \mathbb{R}$$

$$\Leftrightarrow \Delta < 0 \quad \Leftrightarrow$$

$$(-4)^2 - 4 \cdot 1 \cdot \lambda < 0 \quad \Leftrightarrow$$

$$16 - 4\lambda < 0 \quad \Leftrightarrow$$

$$4\lambda > 16$$

$$\lambda > 4$$

$$x^2 - 4x \neq -\lambda$$

$$x^2 - 4x + 4 \neq 4 - \lambda$$

$$(x-2)^2 \neq 4 - \lambda$$

$$(ii) \quad f(x) = \frac{x}{m \cdot x - \lambda}$$

$$m \cdot x - \lambda \neq 0 \quad \forall x \in \mathbb{R}$$

$$m \cdot x \neq \lambda \quad \Rightarrow$$

$$\Leftrightarrow \lambda \in (-\infty, -1) \cup (1, +\infty)$$

Agm. 2  $y_1 \in f(A) \Leftrightarrow \exists x_1 \in D_f : f(x_1) = y_1$

$$(i) \quad 2 \in f(A) \quad f(x) = \frac{3x-1}{x^2+1}$$

$$\{ \exists x_1 \} \text{ w } \text{ du } \exists x_1 \in D_f : f(x_1) = 2$$

$$\text{Nun nur } \exists x_1 \text{ w } f(x) = 2 \Leftrightarrow$$

$$\frac{3x-1}{x^2+1} = 2 \Leftrightarrow 3x-1 = 2x+2 \Leftrightarrow 2x^2-3x+3=0$$

$$\Delta = 9 - 4 \cdot 2 \cdot 3 = 9 - 24 < 0$$

'Apa  $2 \notin f(A)$

Ex. 2 / iii)  $f(x) = mx + bx$

?  
 $1, 9 \in f(\mathbb{R})$

1      1  
 $mx$      $bx$

$$(1^2 + 1^2) \cdot (m^2 x^2 + b^2 x^2) \geq (mx + bx)^2$$
$$2 \geq (m + b)^2 x^2$$

$$-\sqrt{2} \leq mx + bx \leq \sqrt{2}$$

N. d. s. v.

$$(x^2 + y^2) \cdot (a^2 + b^2) \geq (ax + by)^2$$

$$(x - y)^2 \geq 0$$

x	y
a	b